BEfE——1

R AR T LA KRR

=R MY Nt PR %g ﬁ%ﬁ /i Nt W) | A | IR | FER | Bkb | ME | ML %g gi LYib3
il B k| B8R | AF | &£H& Bk | Bk | Bk | Ak | AR | AR | R | BBIR - £H
ol it &L = x#
&t 628 36 18 8 8 2 | 592 18 | 24 | 71 12 | 80 [ 31 | 310 | 32 12 2
KL 124 7 7 17 | 2 8 12 2 15 8 70
BU B3 A 31k 166 11 11 155 1 12 25 12 | 100 | 4 1
R TR L H 3 124 3 2 1 121 8 9 15 2 25 2 50 6 3 1
AT (RO 101 101 2 5 11 3 15 5 60
Mee: TR GFRmE 24 24 2 2 20
BT TR (R, B 21 3 ij%i 18 1 13 4
aezh ) TR 15 2 2 13 0 13
W T 15 2 1 1 13 0 10 3
TAEE 8 8 1 2 3 2
WATFR 6 2 2 4 2 2
ES 5 2 2 3 3
N L 4 2 2 2 2
TARTHE 4 1 1 3 1 2
TR R K 45 i) A% 2 2 2
SEAEME GRINFD 2 2 2
BrReER S TR 2 1 1 1 1
WAL B 5 1 2 2 2
K TR 1 1 1
=T ARL 1 1 1
BEHA 1 1 1




K S—

AR SRR b Belb AR R SR TR

=R AL N Bk | 3R | b e B | Bl | BRES | VESRIE [MAML | RROAKE | B | BRAE | BT
2 B b | RBIR | EF £l | &£B | AF [HEEWE|FAF | AT | BE | 9k | 8B
£\
Wit KU b AF}
&it 738 30 10 2 18 708 33 40 10 198 18 360 13 30 6
W THETE 301 22 10 12 279 10 15 5 70 3 150 5 15 6
AT E B 86 86 4 5 15 2 60
HUBR BT il &% H B 31k 10 10 5 5
RSN ) TR 91 1 1 90 5 4 20 1 60
RN ETE i 86 86 4 2 80
TR 5 1 71 3 3 68 10 25 3 10 5 15
ke o NV Er 20 20 5 15
AR 5 5 3 2
b TR 17 17 2 15
AR 26 1 1 25 25
VAR 16 2 2 14 4 10
AP 2 2 2 0
TARTH 2 2 1 1
AKAREE CTki5 K ARED 2 2 2
K TR 1 1 1
MR 1 1 1
A TR 1 1 1




B A ——-3

PR BRBE. 7. MR, BEAHIE R BEHE TREAE TR

T it | Bk | i | ot | o | | | |y | e s | U e | s
255 B 5 | & B £l | £HA | KV | EF £H | SRH | £H e BRIR | R | K
ik Bt it AF
A 887 | 43 | 38 5 105 91| 9 1 1 3 | 739|316 45 [ 88 [ 238 18 | 25 | 9
AR B s ) TR 60 2 2 58 | 50 | 8
MR (k2 53 | 2 2 1 1 50 | 50
RS 17 | 1 1 3 2 1 43 | 40 3
RIF AR 23 | 5 5 18 | 18
ERP N 23 | 6 6 17 | 17
AR 12 | 5 5 7 7
TR 2 2 2
I 3] 1 1 2 2
B s e B 86 86 86
ES N 52 52 52
PUEASEE T 5k 23 23 23
Mgt 5 BgiE T 17 17 17
A B H R K S 3 3 3
Wrin LA 2 2 2
EESN TR 16 2 2 14 | 1 0 5 8
MILANE 10 10 4 6
ARG S M 5 5 5
WREIRR A5 TR 3 3 3
BUsk LT S B 34K | 132 17| 13| 3 1 |115[ 50 [ 21 [ 18| 19| 4 3
AR TREAEAEZME | 94| 1 1 4 2 2 89 [ 50 [ 10| 3 | 16 7] 3
HeE TR 50 50 | 50
B, EATRE 47 3 2 1 44 1| 43
SAHEK L 8 2 2 6 1 5
TR 20 1 1 19 | 3 15 1
W TRETE 30 [ 8 8 17 | 16 1 5 2 3
HALAE 3 2 2 1 1
AR 3| 3 3
AN 2 2 2
EERES T 19 19 19
AR 13| 2 2 1] s 6
K LA 8 8 | 4 4
HhE LR 7 4 4 3 (3
Hh i AR 6 1 1 5 5
TR 2 1 1 1 1
R LR 2 2 2
EERER 1 1 1




K E—

Zepr R EHEREW AT R BLEHTRENU L

ool I S i T it =il v v s |28 | | B0\ e
. e B KV 5 £H | £H Bt S
il et Bt
&t 146 | 5 1 4 | 141] 10 1 9 11 4 3 3 | 100
[ L N o 34 34 | 3 2 1 2 26
HORZ B 3 3 3
i 36 1 1 35 35
B R 40 40 2 2 1 35
BT 1 1 1
THEAEE S HEAR 6 1 1 5 4 1
SRR AT 1 1 1
T E R/ HRR 5 8 8 1 4 2 1
PUEF 3 5 5 4 1
NI B B 4 4 3 1
Ve B 3 3 2 1
TR (D 2 2 2
e 3 3 3




FtF———5

25t R BEEREWAFRITR (KD

AR R || . | S . o ;
SR U i Bl el il Bl e BV 19 SR Rt p e A P Y ol Bt B B sl Bk Bl Bkt i
o el Tk [k | B | B | B (B cegn | A REIR A &7 | £EA | KA | £/ | Kk | gl | £EH | £H | ES
it 442 | 9 6 | 70| 1 9 | 24| 9 [ 10] 8 9 2 8 7 |203]| 5 4 110 | 1 2 | 36 | 8 1
= S 87 | 2 2 | 20 3 7 2 4 5 1 2 2 | 25 4 1 4 3
THENRIEESEAR 48 20 1 ) 25
T EH/EERR 5 76 4 2 1 5 | 50 14
DUEF 3 44 | 2 2 10 3 3 1 1 18 1 1 2
NG B 19 | 2 2 1 3 6 1 1 3
WIS M TR 22 20 9
Ve 51 2 1 2 39 6 1
TSR (lEE | 23 2 2 1 12 6
R 16 | 1 3 1 1 8 2
SETR GRETHD 8 2 1 5
ERb 3 1 2
guit. HEEE 11 7 4
BUA % 4 1 2 1
e =7 3 2 1
Rz 1 1
ik 2 2
(EES gl 2 1 1
ZUFF 2 2
Jid=gtl 2 1 1
R A2 9 1 8
IR 2 2
MR T 7 7




